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interface Serial0
ip address 5.0.2.1 255.255.255.0
cl ockrate 64000

no cdp enabl e
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interface Seriall

ip address 5.0.2.2 255.255.255.0

no cdp enabl e
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prasit#
show controllers serial 0

HD unit 1, idb = OxF22E4, driver structure at OxF7778
buf fer size 1524 HD unit 0 1, V.35 DCE cable, clockrate 64000

!--- Output suppressed. Spi cey#
show controllers serial 1

HD unit 1, idb = 0x24824C, driver structure at 0x24F828
buffer size 1524 HD unit 1, V.35 DTE cable

I --- Output suppressed.

IOIAE

Prashitoll A ChZ BHE S AlgfL|ch

prasit#ping 5.0.2.2
Type escape sequence to abort.

Sending 5, 100-byte |ICMP Echos to 5.0.2.2, tineout is 2 seconds:!!!!
Success rate is 100 percent (5/5), round-trip mn/avg/ max = 28/ 31/ 32 s

prasit#show interfaces serial 0

Seriall is up, line protocol is up
Hardware is HD64570
Internet address is 5.0.2.1/24
MIU 1500 bytes, BW 1544 Kbit, DLY 20000 usec, rely 255/255, |oad 1/255
Encapsulation HDLC, | oopback not set, keepalive set (10 sec)
Last input 00:00:01, output 00:00: 04, output hang never
Last clearing of "show interface" counters never
I nput queue: 0/75/0 (size/max/drops); Total output drops: O
Queuei ng strategy: weighted fair
Qut put queue: 0/1000/64/0 (size/max total/threshol d/ drops)


https://www.cisco.com/cgi-bin/Support/OutputInterpreter/home.pl
//tools.cisco.com/RPF/register/register.do

Conversations 0/1/256 (active/max active/ max total)
Reserved Conversations 0/0 (allocated/ max all ocat ed)

5 mnute input rate 0 bits/sec, 0 packets/sec

5 mnute output rate 0 bits/sec, 0 packets/sec
205 packets input, 4920 bytes, 0 no buffer
Recei ved 33 broadcasts, 0 runts, O giants, O throttles
O input errors, 0 CRC, O frame, 0 overrun, O ignored, O abort
590 packets output, 4570 bytes, 0 underruns
0 output errors, O collisions, 87 interface resets
0 output buffer failures, 0 output buffers swapped out
116 carrier transitions
DCD=up DSR=up DTR=up RTS=up CTS=up

prasit#
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Spi cey#ping 5.0.2.1

Type escape sequence to abort.
Sending 5, 100-byte |ICMP Echos to 5.0.2.1, tineout is 2 seconds:

Success rate is 100 percent (5/5), round-trip mn/avg/ max = 32/32/32 s

Spi cey#show interfaces serial 1

Seriall is up, line protocol is up

Hardware i s HD64570

Internet address is 5.0.2.2/24

MIU 1500 bytes, BW 1544 Kbit, DLY 20000 usec
reliability 255/255, txload 1/255, rxload 1/255

Encapsulation HDLC, | oopback not set

Keepal i ve set (10 sec)

Last input 00:00: 08, output 00:00:05, output hang never

Last clearing of "show interface" counters never

I nput queue: 0/75/0/0 (sizel/max/drops/flushes); Total output drops: O

Queueing strategy: weighted fair

Qut put queue: 0/1000/64/0 (size/max total/threshol d/ drops)
Conversations 0/1/256 (active/max active/ max total)
Reserved Conversations 0/0 (allocated/ max all ocat ed)
Avai | abl e Bandw dth 1158 kil obits/sec

5 mnute input rate O bits/sec, 0 packets/sec

5 mnute output rate 0 bits/sec, 0 packets/sec
591 packets input, 4592 bytes, 0 no buffer
Recei ved 43 broadcasts, 0 runts, O giants, O throttles
O input errors, 0 CRC, O frame, 0 overrun, O ignored, 0O abort
210 packets output, 5030 bytes, 0 underruns
0 output errors, O collisions, 61 interface resets
0 output buffer failures, O output buffers swapped out
180 carrier transitions
DCD=up DSR=up DTR=up RTS=up CTS=up spicey#
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